Halloween Logic Puzzle
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Shelbie
Avery
Cole
Drew
Princess
Fairy
Superman
Skeleton

Shelbie, Avery, Cole and Drew go triek or treating together every year. Each child dresses up
differently and likes a different type of candy. What does each child dress up as and what is his

or her favorite candy?

1. Shelbie loves chocolate and Drew does not.

2. The boys both dress in costumes beginning with the letter “s”.

3. Superman likes tiny candies so he can eat them slowly.

4 Avery and Cole like to pretend they can fly (their costume choices reflect this).
5 The fairy’s favorite candy has all the colors of the rainbow.




